Name: Ubungsblatt 3 - Terme und Gleichungen 27.09.2016

(1) Bestimme zu den folgenden Gleichungen die Lésungsmenge.

2 —3 =55 x— 45 = 152 + 4353 = 543
x+15 =23 3x — 75 =762 122 + 34 = 10z + 88
33z — 61 = 11x — 567

Lésungen

L={168} L ={279} L =1{9} L={-27} L={27} L=4{41}
L =428} L =4{280} L ={8} L={-29} L={} L={179}
L={19} L={254} L={23} L={-23} L=4{0} L = {29}
(2 Bestimme zu den folgenden Gleichungen die Lésungsmenge.

Tx+ 15 —x + 25 =3x + 23+ bx — 122 — 34+ 92 = —10x + 86 + 11z
122 — 45 4 222 — 123 = 42z 4 104 152 + 4352 — 3x + 125 = Tz — 543 +
3lz — 56 + 8x — 13 = 252 + 99 — 22x — 22 4 22x — 222 = 22x + 20
Losungen

L ={4} L={11} L={{10} L={36} L={6} L = {4669}
L= {5} L={12} L={20 L={35} L=4{9} L =
L={7} L={13} L={30} L={34} L={19} L=

(3 Bestimme zu den folgenden Gleichungen die Lésungsmenge.
7-(x+3)—5x=3(x—11) 6-(7Tx+23)=9-(76 —21z) + 147
15- 3z —2)+ 13z =8-(4z—11) — 11-(11lz —11) + 11z =11-(11z —
25- (132 —12) - Tz =3 - (Tx — 13- (132 —13) + 13z = 13 - (132 —
Lésungen

L={1} L={11} L=4{45} L =4{3} L={-2} L={-21}
L = {5} L = {0} L={56} L={13} L={-4} L={-9}
L = {6} L={10} L={54} L={31} L=4{4} L={-3}

Mathematik
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